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General Instructions :
Read the following instructions carefully and follow them :

()
(ii)
(ii1)
(iv)
(v)

(vi)

(vit)

(viii)

(ix)

(x)

This question paper contains 33 questions. All questions are compulsory.
Question paper is divided into five sections — Sections A, B, C, D and E.
Section A — questions number 1 to 16 are multiple choice type questions. Each
question carries 1 mark.

Section B - questions number 17 to 21 are very short answer type questions.
Each question carries 2 marks.

Section C - questions number 22 to 28 are short answer type questions. Each
question carries 3 marks.

Section D - questions number 29 and 30 are case-based questions. Each
question carries 4 marks. Each question has subparts with internal choice in
one of the subparts.

Section E — questions number 31 to 33 are long answer type questions. Each
question carries 8§ marks.

There is no overall choice. However, an internal choice has been provided in
Sections B, C and D of the question paper. A candidate has to write answer for
only one of the alternatives in such questions.

Kindly note that there is a separate question paper for Visually Impaired
candidates.

Wherever necessary, neat and properly labelled diagrams should be drawn.

SECTION A

Questions no. 1 to 16 are Multiple Choice Type Questions, carrying 1 mark

each.

1.

16x1=16

In which of the following plants are both male and female flowers born on
the same plant and the mode of pollination can be geitonogamy or
xenogamy ?

(A) Papaya (B) Date Palm
(C) Maize (D)  Spinach
2. Which one of the following hormones is secreted by the human placenta
that helps in the maintenance of pregnancy ?
(A) Relaxin (B) Human Chorionic Gonadotropin
(C)  Oxytocin (D) Human Placental Lactogen
57/1/1-11 3 T.0.
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(A) TTEa =k & 54 ¥ 104 T & &=
(B) HIEAR! ¥ & 139 ¥ 154 fg7 & &=
(C) HIEaRl =% & 104 ¥ 174 fe7 & &=
(D) HIEAR! =% % 169 ¥ 204 fo7 & &=

4., TafaRaa @ 7ea I =1 =994 Fifw

qrTd BRI T
(A) 45 +XX _ < gl # srfiremafies um shi
(B) 44 + XXY _  9uU €9 9 HIg A& S Ik
(C) 44 +XO _  Ioqaftiq TSR % SR AR i Bl 8
(D) 44 +XY — = (YY)

5. ¥ IHd & 8 foh UIhfdeh &9 ¥ &9 {9 YR o UHHI 37 91¢ Sd & a9
SITAT H TR 99 YR % &R 9T A & | U8 3 &R 1 9 Teh (dfrse THHT
3TEA T R @ Hidl & | Ife TAT 7 Broht 96 T4a TR o THHT 78t Bid qe
Zieae # 12 for YehR & &R BId, @ Teh Tehe o HAISH &g TTEveh <Ay &

! e ghf
(A) 6 B) 8
€ 2 (D) 4
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p
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p
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(A)  ETEGSH 94 (B) UwIsS 59
(C) N-AEHIHeH a9 (D) HITHISEUEX §Y
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The periodic abstinence by a couple for family planning should be from :
(A) Day 5 to 10 of menstrual cycle

(B) Day 13 to 15 of menstrual cycle

(C) Day 10 to 17 of menstrual cycle

(D) Day 16 to 20 of menstrual cycle

4, Select the incorrect match from the following :
Human Karyotype Characters
(A) 45+XX —  Broad palm with characteristic palm crease
(B) 44 + XXY —  Opverall feminine development
(C) 44 +XO —  Sterile females as ovaries are rudimentary
(D) 44 +XY —  Normal male
5. You know that there are twenty different types of naturally occurring
amino acids and four different types of bases in the DNA. A combination
of 3 such bases code for a specific amino acid. If instead there are
96 different amino acids and 12 different bases in the DNA, then the
minimum number of combination of bases required to form a codon is :
(A) 6 B) 8
C 2 (D) 4
6. The type of bond represented by the dotted line — —— — — > in a schematic
polynucleotide chain is :
S----- B
P <
P S----- B
P S
/ S----- B
P .
S i i B
P <
(A)  Hydrogen bond (B)  Peptide bond
(C)  N-glycosidic linkage (D)  Phosphodiester bond
57/1/1-11 W P.T.O.
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fatafga # 9 fore yr K gifeafaiAm & AaHg SR § A1 hifsemsT i
arfafspamsfierar (3 afy) Ifera Bt 2 2

(A) TS (B)  UwwSH
(C)  UEhNuiEE (D) TeH

8. U I g8l H Thicd U A1 c7eld/derd sl HHI-Id: 38 o1 H T&d 3 :
(A)  FETEEIE (B) 3Mehi (3Te) SFfan
(C) THRH-EveH sAfEn (D) oot sedifan

9. frafaRea il Sigent (cmmifte tfmed) o @ fora wifern = S (Serd)
1 gRea wieqor gq 3T fohar T 7 2
A) U3 (B) Wil
(C) g3 D) =&

10. Yfqaed TgfaaTs — fgg 11 €iuau 31 < fafime o1shd i qgaH + fomiy
fog T Whled @, 39 faf¥r oTghn # &k g1 i 9e 2

(A) S8 &R IH (B) =R &"& IH
(C) Hid &k W (D) o &Rk IH
11. 98 99ad faises S STafmehd: €U YRSE! BHA — Tesd UgE | U=
ST % :
(A) TTERA I I 7
(B) e wfcrre

(C) TIEH <l I=o 9=
(D) foera-u i 3== °mn

12.  SUNIHIST g0 A9 hisi+eh YTl o HHI0T, qAT IMHIETNAT Ud ITTECh] o T
Ht ITYIT B IUEY SId HIAT i hAST: 1 TR & 33k Hid & -

(A) el MATHh IcqTgehal AT I TTfies Icargehal

(B) < Wfheh Icqteehar qei fgdteres Icurgehdn

(C) fedtorer Icurgehdt auT A MM IcaTgshdr

(D) fgfaes 3cargerdr e Hehet WA IcdTgehal
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7. In which of the following conditions/diseases is there a substantial
increase in the activity of mast cells observed in the human body ?
(A)  Typhoid (B) Allergy
(C)  Ascariasis (D) AIDS
8. Lactobacillus that sets milk into curd is categorised as :
(A) Cyanobacteria (B)  Archaebacteria
(C)  Chemosynthetic bacteria (D) Heterotrophic bacteria
9. Which one of the following transgenic animals is being used to test the
safety of the polio vaccine ?
(A)  Sheep (B)  Goat
(C) Pig (D) Mice
10. Restriction Endonuclease — Hind II always cuts DNA molecules at a
particular point by recognising a specific sequence of :
(A)  Six base pairs (B)  Four base pairs
(C)  Seven base pairs (D)  Three base pairs
11. The improved trait that is found in the genetically modified transgenic
crop — Golden rice is :
(A)  High lysine content
(B) Insect resistant
(C)  High protein content
(D)  High vitamin-A content
12. The rate of formation of new organic matter by consumers, and the
biomass available for consumption of herbivores as well as decomposers
are referred to as :
(A)  Gross primary productivity and Net primary productivity
(B) Net primary productivity and Secondary productivity
(C)  Secondary productivity and Net primary productivity
(D)  Secondary productivity and Gross primary productivity
57/1/1-11 7 W P.T.O.
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13. S7UHIT(A) :
BRI (R) :
14. 379F9T (A) :
HRU (R) :
15. 37997 (A) :
BRI (R) :
16. S7YHIT(A) :
HR (R) :
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For Questions number 13 to 16, two statements are given — one labelled as
Assertion (A) and the other labelled as Reason (R). Select the correct answer to these
questions from the codes (A), (B), (C) and (D) as given below.

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

(C)  Assertion (A) is true, but Reason (R) is false.
(D)  Assertion (A) is false, but Reason (R) is true.

13. Assertion (A) : The laws of our country permit legal adoption and it is as
yet, one of the best methods for childless couples looking

for parenthood.

Reason (R): Emotional, religious and social factors are no deterrents to
the legal adoption of orphaned and destitute children in

India.

14. Assertion (A) : Linked genes do not show dihybrid Fg ratio9:3:3: 1.

Reason (R): Linked genes do not undergo independent assortment.

15. Assertion (A) : Agrobacterium tumefaciens is a pathogen of several

monocot plants.

Reason (R): It is able to deliver a piece of DNA known as ‘T-DNA’ to

transform normal plant cells into a tumor.

16. Assertion (A) : Indian Government has set up an organisation known as
GEAC to decide the validity of GM research.

Reason (R):  Genetic modification of organisms has no effect when such

organisms are introduced in the ecosystem.

57/1/1-11 9 A P.T.O.
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20. (%) Wd U HM Hd 9T Th {haH I Th fo¥ad @9 9 w12 (s4) form |
30 Afaera & Ay o TS kg o SR TR @ 3EhT Sfad o=
7q fafohcass < 39 T Solav e |
() Tafreas 3 frg verd = FRf fr qon =i 2 15
(ii) 39 soievH (Fewm) @ form ger i gferen e i 78 ? é
Jrera
(@) wEH® BN HE I fhAH GeHh el o T IHTH I FTHIGT Fi
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SECTION B
17. Identify A, B, C and D in the table given below : 4x é =2
Terms Part of the plant it represents
Pericarp A’
‘B’ Cotyledon in seed of grass family
Embryonal axis ‘o
(D’

Remains of nucellus in a seed

18. Observe the picture given below. Name the naturalist and write the

explanation given by him that evolution of life forms had occurred on the
basis of this example. 2

19. Write the basic steps followed in the Assisted Reproductive Technologies

(ART) programme to help childless couples. Why is it also known as test
tube baby programme ? 2

20. (a) A farmer while working on his farm was bitten by a poisonous
snake. He was rushed to a nearby health centre where the doctor
gave him an injection to save his life.

(1) What did the doctor inject and why ? 1 é
(i1) Name the kind of immunity provided by this injection. é
OR
(b)  Why do organic farmers not recommend complete eradication of
insect pests ? Explain giving reason. 2
57/1/1-11 11 VW P.T.O.
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(e fTHRiIfET) qehies o1 3MER s 8 | 1+1

(@) 38 dehieh o hIg I STIANN T Ieaid I | é*é

24, (%) vwa.wd. fuer g fhu U g i Giedsar i =weEn fifse |
SRt o W fofae fSmes st (aferedn) 3 fier =t 3q g i
0 ¥ foru A fon | 22

(@) Iehiiug favetyor g0 qihedaT 1 aqeH fhd TR LT 8 ?

1
2
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21. Study the diagram of a pyramid of biomass given below. Name the two
standing crops that could be occupying level ‘A’ and level ‘B’ in it. Name
this type of pyramid and the ecosystem in which it is found. 2
£ PC
B’ PP
SECTION C
22. Explain the mode of action of contraceptive pills taken by human
females. Mention the schedule to be followed for effective outcome. 3
23. (a) Name and write two characteristics of the type of DNA that forms
the basis of DNA fingerprinting technique. 1+1
. .. . . 1 1
(b) Mention any two applications of this technique. 3 + 3
24. (a) Explain the significance of the experiment carried out by
S.L. Miller. Name the scientists whose hypothesis prompted him to
carry out this experiment. 2%
(b) How does meteorite analysis favour this hypothesis ? 1
57/1/1-11 VW P.T.O.
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25. Identify A, B, C, D, E and F in the table given below : 3
Name of Human Disease | Causative Organism Symptoms
Pneumonia Streptococcus ‘A’
Typhoid ‘B High fever, weakness,
headache, stomach
pain
Common Cold Rhino virus ‘C
Ringworm ‘D’ Dry scaly lesions on
body parts, redness,
itching
Ascariasis Ascaris ‘E
0 Entamoeba Constipation, cramps,
histolytica stools with mucous
and blood clots
26. In a family, the father, the daughter and the son are colour blind,
whereas the mother has normal vision. Do you think the son and the
daughter have inherited the disease from their father ? Work out a cross
to justify your answer. 3
27. (a) (1) What are transgenic animals ? 1
(ii))  Name the first transgenic cow and state its importance. 2
OR
(b) @) Explain the convention for naming EcoRI. 2
(ii))  With the help of an illustration only, show the action of
EcoRI on a DNA Polynucleotide. 1
28. (a) Explain how it is ensured that the orchid Ophrys is pollinated by a
specific species of bee. 2
(b)  Describe co-evolution with the help of this example. 1
57/1/1-11 VW P.T.O.
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(%) RIS H &F [ | S fafagar (F9fg) ~Idaw &1 8 ?

(@) dgr qen Sqell i fafagar fava & worawm T8 8 o1 eme foa
sifieferd giaT 2 | Seoi@ hifvie foh 39y 1 fafaear =t w1 ad
g |

(M) vE e R T WikfEiea § dei 3t wifvrn i g IRl SR sl
fafaeaan &1 STgATHT T T8 8idl 8 ? T HIT |
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SECTION D

Questions No. 29 and 30 are case-based questions. Each question has

3 sub-questions with internal choice in one sub-question.

29.

57/1/1-11 17

Read the following passage and answer the questions that follow.

Isn’t it incredible that India’s land area is only 2:4 per cent of the world’s
total land area whereas its share of the global species diversity is an
impressive 8:1 per cent ! However, in these estimates of species,
prokaryotes do not figure anywhere.

Biologists are always keen on collecting data with respect to species
diversity observed in different regions of the world. The data collected
based on the survey conducted for species richness of groups of
mammals in three different regions of the world is shown in the bar

graph given below :
N

Taxonomic Richness

v

Region I
Region I
Region II1

(a) Why is the species richness maximum in Region III in the bar
graph ?
OR

(a) Why is the species richness minimum in Region I in the bar graph ?

(b) Plants and animals do not have uniform diversity in the world but

show rather uneven distribution. Mention what this kind of diversity

is referred to as.

(c) Why is it that prokaryotes do not have an estimated number of their

species diversity as seen in plants and animals ? Explain.

vV
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30. I fou Tu @ w1 SrewEa hifse R wamaia Stargett & ==F 6l wrifafy
& fafi=r =won st esrien T B | 39 IMYR W feu MU snrml gl % ST
I

ufufafe &
STTETgHAN
AR e afe gfaieht Sf=

STTSHAA qAT
fufafed 9% TR (iv)

(%) 38 Tag (FfaAH!) I TgHT I FIAHT g5 & | ST hl ATIETA

1 1
i i | PA

(@) wfSHS | 39 TAAT ol T HEl AT & &l CuibieH ae SgErsae= &
gfa wferieft St w1 Faem fopam STar 8 2 Sgafmes ST § 3eht

YfHehT T Ieci@ hHITTT | 2
(M) orgafyes sSfEier O mewqel gfteer w9 9@ demeEl % A
fofaT | 1
STt
() Trasht ffseaa (sTeRHa SURieR™) ® p-iciaciarses i e
fofgw | 1
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30. Study the diagram given below that shows the steps involved in the
procedure of selecting transformed bacteria and answer the questions
that follow :

Gene for ampicilin

resistance Gene for tetracyline
resistance
Plasmid )
Plasmid (1)
Recombinant DNA
(i1)
Plate M

Plate N

Replica plating
Colonies derived from

single bacteria growing

on agar Agar with tetracycline
(111) and ampicillin (iv)

(a) Identify the colony that has got transformed. Justify your answer. é+é

(b) What are the sites in a plasmid called where ampicillin and
tetracycline resistance genes are inserted ? State their role in genetic

engineering. 2

(c) Name two enzymes playing an important role in genetic

engineering. 1

OR
(c) State the role of B-galactosidase in insertional inactivation. 1
57/1/1-11 19 W P.T.O.
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31. (=)
(@)
32. ()
(@)
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(i1)

(1)

(i1)

(iii)

Qs ¢

T Tgastst (UEEaH) § T qwehigig o foehE i same
HITT |

Teh dH-ShITehId TR JHHRIGIIG 1 AHIhd =1 ST |
rerat
HHE St % TSR ARG H1E Hl g A Y o SR
fefaRaa | w1 TmIlehd T
(1) wfer afeernd
(2) WA Ih
(3) T Ieh
4) e

T St o S Tt <hl Tohd STawAT § TN geahi i fHufo
B 8 ?

FSIE | ST AT Ish B b ohl BHM! AT TTEATCHD
qiEreTel st SaTE il |

AAREh o YRFFR AN § § Th TN R gEase &l T o1 o
A qgrd 1 TARM AT IGhT Teh He@qUl AVATT B | 39

TR 1 AW faiRaw foHes 9 grn o8 fug 8 &eht | T & 9uie
TS qe 3Tes sy 1 9ui HIfSY |

AT

3Meh! ST Rl a1l HeX 1 Teh @e dian e mam eent Sy

(SfiFtersa) STa 8 8 | dien | hael TR % g fehu e fafir= shiat
1 GErar & MY 1 e (SHAeET) A e | 3799 gRT §H1T T
YAk hid HI SHITEd (SHlersy) qon geasEdt (BHIesy) Sgu
fefay |
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SECTION E

31. (a) (@) Explain the development of male gametophyte in an

. 1
angiosperm. 2=

2
(ii)  Draw a labelled diagram of a three-celled male gametophyte. 2é

OR

(b)y (@) Draw a diagrammatic sectional view of ovary of human
female and label the following : 2
(1)  Blood vessels
(2)  Primary follicle
(3)  Tertiary follicle
(4) Ovum

(i1)) At which stage of life are primary follicles formed in a human

female ? é
(iii) Explain the events (both hormonal and structural) that occur
at the time of ovulation till the onset of the next menstrual

cycle. 2i

2
32. (a) Stability, as one of the properties of genetic material, was very
evident in one of the very early experiments in genetics. Name the
scientist and describe his experiment. State the conclusion he arrived

at. 5

OR

(b) A tall pea plant bearing violet flowers with unknown genotype is
given. Find the genotype by working out different crosses only by
selfing the plants. Write the genotypic and phenotypic ratios of each

cross shown by you. 5
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33. (%) (1) HIERN & 3| Afadw &1 W T e fife s
THMI BRI § q1 AHATAT BT & T heR hINEhIAl |
e B ST 8 | 12

(i) HFg h aft T SRR § 9 Si9 Bd 3 S fafirse
gifeafor § HHsH] 8 Gohd & | ST 919 faRge qen samse 6
3 HY ITYH I § FAER Hd 7 |
(iii) ShEX o AMSH qu1 g W FAfaRaa deedienl hl fHeR!
I hIfu
(1) Shgfaudien (SrEret) qon e foaeld (REhrrs)
(2)  geehiT I A (AAfesh ke gafam) 1
AT
(@) R wd & § Yidled aifed 7 Teh §gd 9! AN H WA &Il 8 a
30 9 UGN S % T 381 ITER a1ied 7 IT=R EIAT (STP)
fora ST 2 | 1fed A1 IURR "3 ok fafi= =won o i feu w varg
3G gRT ST TR |

Y JdTg 3T 1 EIIT R 4= feu U yot o I &fu .
Ifieh Sfe:@Td i §¢ Iard dohi § ¥ THRT Sl §

SfgaTE Hi aETed U gq Feame (defer) doi # 9e Jrar B

O (1) i SfgEE o 98 AgdE Sl = ITAR ST g 2
2) ffda ‘s’ 1 =1 HEgd 7 2 Uk HEW I I
il |

(3) UG Ffg:ATE ohl YThideh ST @idi H JaTed i § qd
g 3% 1 stfaw =wor ) e T |

Gi) ol Sta-srmat = foreel @ Sfat o 9™ faRae S 3m at @
ST SI-3deh! & ®9 H fopam ST 2 | foifae fo6 570 @ 9=
g JA9-35h o ®9 H Y & ST 2 |
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33. (a) () Name and explain the property present in normal cells but is
lost in cancer cells. 1 1

(ii)) All normal human cells have genes that may become

cancerous under certain conditions. Name them and explain
how. 1

(iii) State the role of the following techniques in detection and
diagnosis of cancer :

(1) Biopsy and Histopathology 1
(2) Magnetic Resonance Imaging 1;
OR

(b)  Large quantities of sewage are generated every day in cities as well
as in towns and are treated in Sewage Treatment Plants (STPs) to

make them less polluting. Given below is the flow diagram of stages
of STP.

Study the flow diagram and answer the questions that follow :

Primary effluent passed into large aeration tanks

\ 4

Effluent passed into settling tanks to form ‘sediment’

i) (1) Why is primary effluent passed into large aeration
tanks ? 1

(2)  What is the ‘sediment’ formed, referred to as ? Mention

its significance. 1

(3) Explain the final step in the settling tank before the
treated effluent is released into water bodies. 1

(ii) Name any two organisms commonly used as biofertilisers,
belonging to different kingdoms. Write how each one acts as
a biofertiliser. 2

vV
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